
  

  

 

 

 

Model Multiple Choice Questions:

RAE-6 Local Audit –Jharkhand

Question Number:1

The closing balance of a municipality should not be less than the total average charges for-  
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A

two months  
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B

three months  
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C

four months  
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D

six months  
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Ans A

Question Number:2

As per the General Financial Rules, no compensation for accidental loss of property is payable to an 

officer except with the approval of-  
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A

Finance Ministry  
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B

Controller- General of Accounts  
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C

Reserve Bank of India  
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D

President of India  
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Ans A



 

 

Question Number:3

Fill in the blank with suitable word: According to the Bihar Municipal Accounts Rules, 1928, the 

balances of Government grants which remain unspent for more than ________complete financial 

years should be credited to Government.  
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A

two  
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B

three  
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C

four  
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D

five  
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Ans B


